



## OPEN AUCTION NOTICE

An open auction for the sale of unserviceable electronic equipment, hardware, furniture, and miscellaneous items will be conducted by the Federal Public Service Commission (FPSC) at FPSC Headquarters, Aga Khan Road, F-5/1, Islamabad. The auction will take place on **7<sup>th</sup> January, 2026 (Wednesday)** at 11:00 am under the following conditions:

- i. The Auction Notice, including terms and conditions, and the enclosures for Annex-A (Lot-I), Annex-B (Lot-II), and Annex-C (Particulars and Eligibility of Bidders Proforma), can be downloaded from FPSC website ([www.fpsc.gov.pk](http://www.fpsc.gov.pk)) or may be collected from FPSC HQs during office hours..
- ii. The auction will be conducted on an "as is" and "where is" basis.
- iii. All bidders must submit a refundable bid security of Rs. 50,000/- (Rupees fifty thousand Only) in the form of CDR/Demand Draft/Pay Order/Banker's Cheque drawn on the name of Federal Public Service Commission FTN No.9010202-9, along with a copy of their CNIC.
- iv. Bidders must submit the original bid security and an affidavit on a stamp paper of Rs.100/- drawn on the name of firm/bidder/vendor wants to participate in the open auction stating that the firm/bidder/vendor has not been blacklisted from any government/semi government/autonomous body/organization at the time of submission of bid in open auction along with copy of CNIC in Room No. 14 (Ground Floor), FPSC Headquarters, Islamabad before **on or before 7<sup>th</sup> January, 2026 (Wednesday), 10:00 am**. Bidders who fail to do so will not be allowed to participate in the open auction process.
- v. The bid security of the successful bidder will be retained until the payment of the bid amount, including all applicable taxes, is completed at SBP/NBP and verified by the Treasury Office.
- vi. If the successful bidder does not collect the disposed material within ten working days after issuance of the work order, their bid security will be forfeited.
- vii. The successful bidder on receipt of work order shall deposit the quoted bid amount and all applicable taxes separately at SBP/NBP before collecting the disposable material.
- viii. Bids lower than the reserved price set by the disposal committee will be rejected. The reserved prices are Lot-I: Rs.367,500/- and Lot-II: Rs.48,750/-
- ix. Bidders must arrive before 10:00 am on 7<sup>th</sup> January, 2026 (Wednesday) at the office of the Director (Logistics), Room No. 14 (Ground Floor), FPSC Headquarters, Islamabad, with the original bid security instrument, an affidavit (in original) and original CNIC. After 10:00 am entry in the office will not be permitted. Moreover, only those bidders shall be allowed entry in office who have the requisite documents.
- x. The open auction will commence at 11:00 am on 7<sup>th</sup> January, 2026 (Wednesday) in the presence of the disposal committee and participating bidders who have submitted the required documents before 10:00 an on 7<sup>th</sup> January, 2026 (Wednesday) and fulfills the criteria to participate in the open auction process.
- xi. FPSC reserves the right to reject all bids or proposals at any time before acceptance, as provided under Rule 33 of the Public Procurement Rules, 2004.

Director (Logistics)  
Phone 051-9212159

S. No.	Item Description	Qty	Estimated current value per item (Rs.)	Total Estimated current value (Rs.)
A	B	C	F	G
1	Office Table 3 drawers	10	1,500	15,000
2	Office table 2 drawers	5	1,000	5,000
3	Office Table one drawer	2	800	1,600
4	Office table without drawer	5	700	3,500
5	Computer Table	9	500	4,500
6	Side Rack wooden	15	300	4,500
7	Steel Almirah	1	2,500	2,500
8	Steel File Cabinet	5	2,500	12,500
9	Officer Revolving Chair	1	750	750
10	Low back revolving chair	3	750	2,250
11	Computer Chair	10	750	7,500
12	Visitor Chairs (Canning)	25	250	6,250
13	Visitor Chairs (Cushioning)	10	250	2,500
14	Air Coolers	3	2,000	6,000
15	Pedestal Fan	1	2,000	2,000
16	Ceiling Fan	1	1,500	1,500
17	Bracket/ exhaust fan	4	1,000	4,000
18	Photostat Machines Gestetner 6650	2	25,000	50,000
19	Battery N200 Exide	1	1,000	1,000
20	UPS	1	2,000	2,000
21	Leather Bags	3	200	600
22	Sofa Seats	3	100	300
23	File trays	10	100	1,000
24	Rostrum	2	1,000	2,000
25	Honour board wooden	1	500	500
26	Exam Tables	40	1,000	40,000
27	Exam Chairs	25	1,000	25,000
28	Pigeon box	1	1,000	1,000
29	Vaccum cleaner	2	1,000	2,000
30	Window AC	7	7,500	52,500
31	Split AC indoor unit	2	2,500	5,000
32	Split AC outdoor unit	1	5,000	5,000
33	Photostat machine Ricoh 301	1	25,000	25,000
34	Fax machine Panasonic 933	1	1,500	1,500
35	Mega phone	1	500	500
36	Monitor	1	500	500
37	CPU	7	1,500	10,500
38	Keyboard	15	50	750
39	Computer ups	2	2,000	4,000

S. No.	Item Description	Qty	Estimated current value per item (Rs.)	Total Estimated current value (Rs.)
40	Gas Heater	3	1,500	4,500
41	Old Tyre	8	500	4,000
42	Misc. Parts of vehicles	1	2,000	2,000
43	WC (English)	8	1,000	8,000
44	Urinal Basin	10	250	2,500
45	Steel Kitchen Sink	5	1,000	5,000
46	Wash Basin with padestal	14	1,000	14,000
47	Tube lights covers	50	300	15,000
			G.Total	<b>367,500</b>

FEDERAL PUBLIC SERVICE COMMISSION  
Official Website Document  
Friday, 19 December, 2025, 3:19:5 PM

S.No.	Item Description	Qty	Estimated current value per item (Rs.)	Total estimated current value (Rs.)
1	Tea Trolley	1	500	500
2	Easy Chair	3	300	900
3	Wooden Chairs	5	200	1,000
4	Board for location	3	1,500	4,500
5	Gas Geyser	2	2,000	4,000
6	Shed for door	3	300	900
7	Curtains Patti	22	150	3,300
8	Electric Tube Petti	15	200	3,000
9	AC Unit Indoor/Outdoor	3	5,000	15,000
10	Bath Basin	1	500	500
11	Bath Seat	1	500	500
12	Light Pole	2	500	1,000
13	Examination Table	2	500	1,000
14	Sound System	2	1,000	2,000
15	UPS Trolley	1	500	500
16	Vacum Cleaner	1	1,000	1,000
17	Tyre GK 041	4	500	2,000
18	Carpet Central Peace	4	500	2,000
19	Old parts of vehicles	20	50	1,000
20	Old tube lights double	4	200	800
21	Old tube lights single	24	100	2,400
22	Exhasut fan	3	250	750
23	Water coller plastic	1	200	200
			<b>Grand Total</b>	<b>48,750</b>

**PARTICULARS**  
**AND ELIGIBILITY OF BIDDERS**

S.No.	Description	Information
i.	Name of bidder	
ii.	Name of firm (if any)	
iii.	CNIC No. of bidder	
iv.	Cell No.	
v.	email address	
vi.	Detail of bid security instrument with date	
vii.	Affidavit on stamp paper issued on the name of firm or bidders CNIC	YES / NO

**Date and Time of Receipt**Date: Time: 

Signature of Bidder

Verified by Deputy Director (Logistics)

**BID OFFERED IN THE OPEN AUCTION**

LOT NO.	ITEMS	RESERVED PRICE (RS.)	HIGHEST OFFER GIVEN IN OPEN AUCTION (RS.)
<b>I (ONE)</b>	List of unserviceable items pertains to FPSC HQs	<b>Rs.367,500</b>	
<b>II (TWO)</b>	List of unserviceable items pertains to FPSC Prov. Office, Lahore	<b>Rs.48,750</b>	

**Signatures of  
Members of Disposal  
Committee**